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Instruction :  First 15 minutes are allotted for
the candidates to read the
question paper.
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Note : i)  All questions are compulsory.

ii)  Question Nos. 1 Lo 5 are of
Multiple Choice type.

iii) Question Nos. 6 to 10 are of Very
Short Answer  type. Their
answers are to be given in about
10 words ( one sentence ) each.

iv) Question Nos. 11 to 15 are of
Short Answer type. Thelr
answers are to be given in about
50 words each.
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Question Nos. 16 to 18 are to be
answered in about 150 words
each.

Question Nos. 19 to 21 are of

Long Answer type. Their answers

are to be given in about
300 words each.

Allotted marks of all the
questions are given against each

of them.
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( Multiple Choice Type Questions )
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Note : Four alternatives are given for each of
the following five questions. Choose
the correct alternative and write it in

your answer-book :

1. Who is the author of the book entitled

'‘Arthashastra’ ?
a) Manu

b) Laski

c) Kautilya

d) Gandhi. ]

2.  Which one of the following leaders is not

assoclated with the Non-aligned

movement ?

a) Nehru

b} Nasir

c) Tito

d) Wilson, 1
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3.  Which of the following is not the part of a

government ?

a)

bj

c)

d)

Executive

Legislature

Judiciary

Election Commaission.

4. Which Indian state has the maximum

perentage of tribal population ?

aj

b)

284794

Bihar

Uttarakhand

Madhya Pradesh

Mizoram.
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5. How many members are there in the
Security Council of United Nations

Organisation ?

aj 9

b) 11

c) 15

d) 21. 1

( fq &g I=E uv )

( Very Short Answer Type Questions )
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6. Give one impediment in the way of

development of healthy public opinion. 1
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Mention two means by which Legislative

controls the Executive. —f; + %
A o UF Hd H A feAEgn | 1
Mention one source of Law, 1
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Write any two organs of United Nations.

+
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Who was the father of scientific

socialism ? 1
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13.
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14.
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( Short Answer Type Questions )
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Mention any four functions of political
parties in democracy. % + iz + é + ;
A & U FAET 1+ 1
Mention fwo kinds of Liberty. 1 +1
STCTEIAA F &1 AT 1 IoehE BT |
1+1
Mention two obstacles of
internationalism. 1+1
AMRE % F Heedyul Tliae SATURRI H

ﬁaﬂ:| l+1
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Wwrite two important political rights of
the citizens. 1+1
Feord I | 1+1
15. Write any (wo problems of Scheduled
Tribes. P+ 1
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Note @ Question Nos. 16 to 18 are to be
answered n about 150 words each.

16, AT & areE TR RO FitAu | HE-

a1 e TR § 7 3+ 1

16. Explain the different kinds of Equality.

Which one is more important ? 3+1
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17. "Second chamber 1s not essential for a

legislative” Discuss this statement. 4

18. H T-Tl'?"_':_: Z,‘Ti“[ 3) et EH ':'_f:‘ﬁ-]: '_",?T TPj:[' a*
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1&. Describe two facilities provided for the

welfare of other backward classes. What
provision has been made to keep away
the economically prosperous persons of

these classes from these benefits ? 2+2°
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( Long Answer Type Questions )
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1. Discuss the mai runctions of Judiciary.

6

OR
Discuss the main functions of the
Executive. 5
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20. Describe the evolutionary theory of the
origin of state. 6

OR

Describe the characteristics of the

welfare state. 6
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Jhat is individualism ? What is the
!

dlfferen-::e between individualism and

socialismm ? 2+ 4

OR

Describe main clements of the policy of

non-alignmernt. 6
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